SPH 4UI Chapter 1 Supplementary Questions
Multiple Choice
Identify the choice that best completes the statement or answers the question.
1.

An object is travelling north and slowing down. The directions associated with the object’s velocity and acceleration, respectively, are

	a.
	[N], [S]
	d.
	[N], [N]

	b.
	[N], [N]
	e.
	[N], [S]

	c.
	[S], [S]


2.

In an emergency braking exercise, a student driver stops a car travelling at 83 km/h [W] in a time of 4.0 s. What is the car’s acceleration during this time? (The answer is expressed in units of m/s2.)

	a.
	5.8 [W]
	d.
	21 [W]

	b.
	21 [E]
	e.
	–5.8 [E]

	c.
	5.8 [E]


3.

A car is travelling north when it enters a curve. It maintains a constant speed and leaves the curve travelling east. The direction of the car’s acceleration is

	a.
	south-east
	d.
	south

	b.
	north-east
	e.
	the car does not accelerate

	c.
	east


4.

A boat always points directly at the opposite shore while crossing a river. The time it will take to cross will be

	a.
	less if the current is stronger

	b.
	greater if the current is stronger

	c.
	the same regardless of the current

	d.
	dependent on the strength of the current

	e.
	impossible to predict without more information


5.

A plane must fly to a destination located due north from its departure point. A gentle wind is blowing from the south-west. What direction must the plane point to reach its destination?

	a.
	north
	d.
	west

	b.
	north-west
	e.
	east

	c.
	north-east


6.  The Raging River flows east at 4.8 m/s.  It is 385 m wide and Bart is on the northern shore.  If he can swim at 6.9 m/s, determine his heading to land across the river but 75 m upstream from where he starts.

7.  A 250 m wide river flows north at 2.2 m/s.  A swimmer can swim 3.3 m/s with respect to the water.  What heading must she take to land 150 m upstream?  How long does this take? 

8.   a)  Logically, which angle gives the maximum range for a projectile launched on level ground?  
      b)  For this angle, prove that the range is four times the maximum height. 

9.   Raging River flows at 3.0 m/s.  You can swim at 6.0 m/s. When you head upstream at an angle ( from the shore, you land 7.0 m upstream.  When you head downstream at the same angle ( from the shore, you land 55 m downstream.  Determine the angle (. (Hint:  Look at the components of the velocity.) (5 marks)
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